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6. If y= 2 and 2z =log,x, then E?‘ﬂ-dz—
log, x d*y dy
= xe , 2=log, x ®ond ® P E+£
(1) e @ 2
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7. If 1° = « radians then the approximate value of cos (60° 1') is
1° =« B8abs wosd cos (60° 1) aemono® Hers =
: A
1 av3 ~1 o s
] SR T @ 2 120 -
1 a3 e
R TT) @ 3% 120

8. If the distance s travelled by a particle in time ¢ is given by s = t* — 9t + 5,
then its acceleration is
off ®mdl t SHoned® FeHod Srdgo s U s = b 2t +5 o i‘-i"f&» ar

é&&mo
1 0 @ 1
@ 2 @ 3

9, The length of ‘the subtangent at any point (x,, ¥,) on the curve y = 5% is
SEo y =52 Doy (xy, y) S8 &3 &0 Jerpodsn s

¥ KM @) y.54
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21. W a, b and n are natural numbers then ¢2*' + 521 ig divisible by :
a bt o Ssow SopgEd o 4 pil SHsor wefods |
( a+ b (2) a-»
@ o+ b 4 a* + b2

22. A bag contains n white and n black balls. Pairs of balls are drawn at random
without replacement successively, until the bag is empty. If the number of
ways in which each pair consists of one white and one black ball is 14,400,
then n =
¥ Sond® n 2004, n Sedd zodw Gy OGeE, I Somr, SESm, B
AL BolLd® 860 doSose wode S80S Bod o0 sdbSsEE B
|$8 e8S° wy Bed wod, wy o0 BoB aoder & HEHe Sopg 14,400
©ond n =
1. 6 (2) 5
& 4 @ 3

23.  The number of five digit numbers divisible by 5 that can be formed using the

numbers 0, 1, 2, 3, 4, 5 without repetition is

0,1,2,3, 4,5 sciod HSvrSySomtioa sS@rnol b 8 whosud n&oe
womze dowg

(1) 240 2 216

(3) 120 4) 96
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=A+8."P,= A = “
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Ir - 1)‘03 4 tr:.—l}o4 > "Cjg, ‘then the minimum value of n is
{n — “Ca + (n-—1-104 % HC& oond n pors ggaé Dends

1 5 W}g

@ 7 @) 8

If the coefficients of rth and (r + 1)th terms in the expansion of (3 + 7% are
equal, then r =
B+ T S D5606° 1S, (F+ DS Soe Hewe SSeSHond,

r =

(1) 14 (2) 15
@ 18 4) 21
x3+x+1 A B c \"" _".!.ll-‘;(r'. L}(f,f[.-.;
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= A4+ C = f\“- 1\.(1‘ =y [s-.
1 4 2)) B4 n =) (=5 A |.
= W - 1 )
@ 6 w8 ; L
»
S 2 >0 5y
,,);1-(2:“1-)!“ R K A0
o B feit’
1 e
3 @ 3 :
@B e 4) 2 ' -
.Ii_Rﬂugh Work :

9P




D E 2011 D

2

29. Ifa >0 and % — 4gc = 0, then the curve y = ax® + bx + ¢
(1) cuts the x-axis
(2) touches the x-axis and lies below it
@ J lies entirely above the x-axis
(4)  touches the x-axis and lies above it
a > 0, b% - dae = 0 wovd |50 ¥ = ax® + bx + ¢
(1) x-ogdy mo&@‘o&
(@) x-ozpdy Spism, ol BMHSY dotod
@) Hrlor rofc IHNSS Gotuod
{4) X-SF Ssr, el SMNSY woinesd
30. If tan A and tan B are the roots of the quadratic equation 2% — px + g =0,
then sin® (A + B) =
tan A, tan B ST S Ees0 %% — pr+ g =0 35 Sreer8d sin® (A + B) =
2
(1) p;: e (25‘/ I{-p_f;a
2
@ l-g- @ o
31.  The value of ‘a’ for which the equations x° + ax + 1 = 0 and 2* + ax® + 1 =0
have a common root is
S&o¥ares &0 +ax+ 1= 0, x*+ax®+1=0 ol ol adnd dreo aod,
‘@’ Send f
(1) =2 {2( -1
@ 1 4) 2
Rough Work
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x*—8x+4
32. If x is real, then the value of m lies in the interval

Wi x*-3x+4
x-emp 2 +3x+4

(1) B— 3] @ E,ﬁ] @) [%-6] @y T% ?]

cos o sin o 0

Gudy Devd @od eodo

33. A, p) = [-sina cos o 0| = Al pIt =

0 0 P

(1)  Al-e, B) 2) Al—o, —p)
(3)  Alw, —p) 4) Ala, p)

84. If A is a matrix such that \

2 1 11
AQ 1= LA
g = o 0 i

A e Sm0y
2 1 1 1
A(l 1)=
3 2 o 0 .
dﬁgagéago'&) A= | o
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A : =L =0
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88. The locus of the complex number z such that

is :
(1)  a circle
(3) a parabola

n

-9 :
BI‘B[L] =3 ue‘:&b:g@aa éﬁézg"

z+2

(1) &8 &80
(3 ef Svesodbo

[2-2) =
z+2) 3

(2) a straight line
(4) an ellipse

Sogp z Do o :

2) o8 S6wde

4) oy &8 &Hdo
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a- %

1 -1
@ 2

(:2) 1
4) -2

If f: R - IR is defined by flx) = 7 + cos (6x + 3) for x e IR, then the period

fiR->RJ 58 xcR8 flx) =T + cos (bx + 3) o IRI oSy fesgsc

of fis

(1) 2n
_ n

(3) 5

@ =

(4) 5

39.

40.

41,
f "y &
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